
STREET SCENE EQUIPMENT,INC. 950-70138
365 McCormick Avenue FRONT VALANCE GEN 5
Costa Mesa, Ca. 92626 99-2002 CHEVY SILVERADO

    Phone (714) 426-0590   Fax (714) 426-0591 2000-2004 CHEV  TAHOE
&

SUBURBAN
     INSTALLATION  INSTRUCTIONS GENERATION 5

NOTE: Fit all parts before painting ( See Special Instructions For Paint Prep. ) Parts that have been 
installed, preped, or painted are not returnable.

VERY IMPORTANT !  Read and understand all directions and check the following parts list before starting
installation. 

Note: Speed Grille part # 950-77138 for the valance openings is available as an option.

PARTS LIST
1      Front Valance 1     Instruction Sheet 13                1/4-20 X 1" Bolts
26    1/4" Flat Washers 1   Street Scene Decal 13               1/4" Nyloc Nuts

TOOL LIST
    7/16" Wrench, 7/16 Socket, Ratchet, Flat Blade Screwdriver, Safety Glasses, Drill Motor, 5/16" Drill Bit,

1.   Before beginning installation be sure to wear proper eye protection.

2.   Remove the stock valance and retaining clips by prying up with a flat blade screwdriver the center locking
      pin in the quick connect fastens and removing the 13 fasteners from valance. Remove valance and the 
      female half of the fastener remaining on the bumper. 

3.   Set the factory valance on top of the Street Scene valance and mark the mounting hole location. Drill
      using a 5/16" drill bit.

4.   Attach the valance to the bumper  with the 1/4"-20 X 1" bolts provided. Use a flat washer on the top and 
      bottom side. Do not tighten until all fasteners are installed and the valance is positioned against the 
      bumper.

5/30/02   SSE   950-70138


